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QUESTION 1

Which interface uses SS7 for signaling? 

A. A interface. 

B. Air interface. 

C. Ater interface. 

D. Abis interface. 

Correct Answer: A 

 

QUESTION 2

Which of the following is NOT a GSM basic service? 

A. Asynchronous data transmission for circuit switched with data rate of 9.600 bps. 

B. Short message service. 

C. Call forwarding. 

D. Fax transmission. 

Correct Answer: C 

 

QUESTION 3

In a Network where high LTE/HSPA Power is required, which feature should we implement? 

A. High Speed Rail Handover. 

B. Enhanced packet Scheduling. 

C. Orthogonal Sub Channel for DHR. 

D. Energey Efficient Coverage. 

Correct Answer: D 

 

QUESTION 4

After a subsequent inter-MSC handover (from MSCa to MSCb, then to MSCc) in case of PSTN originated mobile
terminated call, the new traffic connection is? 

A. PSTN-GMSC-MSCa-MSCb-MSCc. 
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B. PSTN-GMSC-MSCa-MSCc. 

C. PSTN-GMSC-MSCb-MSCc. 

D. PSTN-GMSC-MSCc. 

Correct Answer: B 

 

QUESTION 5

In DX200 alarm printout, unknown equipment type is printed as? 

A. SWITCH. 

B. TRANSM. 

C. EXTERN. 

D. ???????. 

Correct Answer: D 
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